Calculs croisés

Complète ces grilles en y inscrivant les  chiffres manquants

grille 1
	
	-
	17
	=
	

	+
	
	x
	
	+

	51
	:
	3
	=
	17

	=
	
	=
	
	=

	87
	-
	
	=
	


grille 3
Complète 

	96
	+
	4
	=
	

	:
	
	x
	
	-

	
	:
	8
	=
	

	=
	
	=
	
	=

	3
	x
	
	=
	


grille 5

Complète:
	
	+
	37
	=
	

	+
	
	-
	
	+

	
	-
	
	=
	141

	=
	
	=
	
	=

	189
	+
	9
	=
	



Calculs croisés

Complète ces grilles en y inscrivant les  chiffres manquants

grille 2
	
	-
	94
	=
	

	-
	
	-
	
	-

	104
	:
	91
	=
	

	=
	
	=
	
	=

	
	-
	
	=
	30


grille 4
Complète
	
	-
	94
	=
	

	-
	
	-
	
	-

	104
	-
	
	=
	

	=
	
	=
	
	=

	
	-
	3
	=
	30


grille 6
Complète
	
	:
	5
	=
	

	x
	
	x
	
	+

	15
	-
	
	=
	13

	=
	
	=
	
	=

	150
	:
	
	=
	


Corrigés
grille 1
	36
	-
	17
	=
	19

	+
	
	X
	
	+

	51
	:
	3
	=
	17

	=
	
	=
	
	=

	87
	-
	51
	=
	36


grille 3

	96
	+
	4
	=
	100

	:
	
	x
	
	-

	32
	:
	8
	=
	4

	=
	
	=
	
	=

	3
	x
	32
	=
	96


grille 5
	20
	+
	37
	=
	57

	+
	
	-
	
	+

	169
	-
	28
	
	141

	=
	
	=
	
	=

	189


	+
	9
	=
	198





grille 2

	137
	-
	94
	=
	43

	-
	
	-
	
	-

	104
	-
	91
	=
	13

	=
	
	=
	
	=

	33
	-
	3
	=
	30


grille 4
	137
	-
	94
	=
	43

	-
	
	-
	
	-

	104
	-
	91
	=
	13

	=
	
	=
	
	=

	33
	-
	3
	=
	30


grille 6
	10
	:
	5
	=
	2

	x
	
	x
	
	+

	15
	-
	2
	=
	13

	=
	
	=
	
	=

	150
	:
	10
	=
	15


